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o FUIT T I 13 57 §97-9 7 A7 T 16 T FHT 15 8|

Please make sure that the printed pages in this
question paper are 16 in number and it contains
15 questions.

o 797-9F H qIfe7 &Y &1 SR 3T ¥ FiE T%w 79T @ & O
F-GIel & JET-9% T [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o FYAT §97 H T [eTGT & XA T TE, J97 BT Bl T
forg|
Before beginning to answer a question, its Serial
Number must be written.
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FTR-GRa® & &= 7 @redl a=11/7+ 7 8131
Don’t leave blank page/ pages in your answer-book.

TH-YRawT & SfdRed @E o= dic & A o
STTHTEATIAR & [ oI ferar IR 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
gdiereff 7qer T o FIT-F 9T 3G9 feard |

Candidates must write their Roll Number on the
question paper.

FTIT FT1 & T 3 G G4 I8 A & & [ g97-97 guf
7 7&l & qiftem & TuvTT 39 T & FE 4t qar @Ew
7T fFaT AT |

Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

T (i) @H FIT 8T F &1 A% J97 & &b TG GHT
Iy 1Y &l

(i) F9T Q@I 1 & 6 % qgdlcqs 997 8 ITH T
gt I gIH 391 FR-giaan 4 for@m &l

(iii) 97 T 13, 14 T 15 7 3<% g€ I &l
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Note : (i) All questions are to be attempted.
Marks of each question are indicated
against it.

(i) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to
select one appropriate answer and write
the same in their answer-book.

(iii) Internal choice is available in Question
Nos. 13, 14 and 15.

1. -2 @Id § 98 -2 I o & o 1
(1) AT ST TP b BN &

) A QST G Bl §

(/) 3T GO @ ST S & Bl &

(3) SUUH | H HE A

€

Income and Expenditure account records
transactions of :

(a) Revenue nature only
(b) Capital nature only
(c) Both capital and revenue nature

(d) None of the above
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e : [FF7 AT & SR 9% §97 G&7 2 T 3 & e I
gy :
&, T 7T @ TH F¥ § GEER 8| WERi 609 & Ag4N,
& T H Y& AT B 4% SHIIH I B HI ATURR &

ST HHAT "I & 18 AT BH Hl FHE ge T ggd
& AT 37,800 ¥ &I

From the following particulars, select the correct
answers of Question Nos. 2 and 3 :

A, B and C are partners in a firm. According to
deed, A and B are entitled to get a commission of
4% (each) on net profit after charging such
commissions. Net profit of the firm was ¥ 37,800
before adjustment of commission.

2. 3 TAT T FH FHHIL S RN HAA: A - 1
&) 1512; 1512

9) 1512; 1400

q) 1400; 1400

7) Sudw § 9 B 6

The amount of commission of 'A' and 'B' will be :
(@) 1512; 1512

(b) 1512; 1400

(c) 1400; 1400

(
(
(
(

(d) None of the above
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3. O, T AW AH b W H YT B ¢ 1
(31) 9% 2 12,600 (@) IUHT 11,666.66
(®) 5@® 2 11,000 (3) SUghHH & P T
‘A’, ‘B’ and ‘C’ will get as a profit :
(@ 12,600 each (b) % 11,666.66 each
(¢ % 11,000 each (d) None of the above

4. wfd® g @1 ATH B FH died 8T UH BH H FIEER B
I T T 99 &I HAM: 1/59 1/6 @4 § B &
foTT ATEIER 9T ST AT AA-B10 ST 81 = 1
(&) 19:19:12:10 (d) 8:7:5:6
@) 19:12:19:10 (%) SugHHA @ & T
Malik and Gupta are partners in a firm sharing
profits & losses equally. They admit Singh and
Bansal as new partners for 1/5th and 1/6th
shares in profits respectively. The new profit
sharing ratio will be :

(@ 19:19:12:10 b) 8:7:5:6
() 19:12:19:10 (d) None of the above

%:%W%WWWWVWS 76 % q& I
TFF qAT AR’ | STUH B & GHIAA BT WU [Tl IS
T &

WMER 90,000 %, d% XM 40,000 T; Gur
TE 30,000 ¥; U9 918 35,000 3; B & it 9
99 &Y 1,75,000 |

2908/ (Set : A) P.T.O.




(6) 2908/ (Set : A)

From the following particulars, select the correct
answers of Question Nos. 5 and 6 :

X" and 'Y' have decided to dissolve their firm.
The liabilities were :

Creditors T 90,000; Bank Loan ¥ 40,000 and
Capitals : X ¥ 30,000 and Y X 35,000. The assets
were realized of ¥ 1,75,000.

5. BH & gl &  &H od 41 : 1
(31) %1,75,000 (@) %1,95,000
(®) 2 2,15,000 (3) SUgHH & P T
The book value of the firm's assets was :
(@) % 1,75,000 (b) ¥ 1,95,000
() % 2,15,000 (d) None of the above

6. TU% FTHER & o6, agal W &1 AT9/E1 S 1
(31) % 10,000 w4 (@) % 10,000 &1
(@) % 15,000 @Y (8) wudh d q &g T

The share in profit/loss on realization account of
each partner will be :

(@) T 10,000 profit (b) ¥ 10,000 loss
(c) ¥ 15,000 profit (d) None of the above
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7. TSR 8T & ST~qq @l | ‘=<’ & T T @l {54
JhR foar Smar & 7 @ | 4

How is subscription calculated & treated in
Income & expenditure account and Balance
Sheet of a not-for-profit organization ?

8. WU 9 [RAYT o1 T &I &l A9l 2 @ 1 U § o
€l 01 T 2006 &I AT FH § ThT & 1710 (T8
W) @I AFIER a910 & 8fR 38 &7 § A 25,000 T A5
o TR &4 8| 72w T faaer arot wrfiery gdad & w@d
g O0g THT & TR & @I H HAT O T I HA:
3:2 & AU H T84 HUI| 31 fRT=R, 2006 & BH &
9 1,20,000 T 97| 39& forg @ 9 &ri+ i @
TR ST 4

Mahesh and Dinesh are partners sharing profits
and losses in the ratio of 2 : 1. On 01 Jan. 2006
they agreed to admit Rakesh for 1/10th share in
profit as a partner with a minimum guarantee of
T 25,000 profit per year. Any deficiency arising
out on that account shall be met by Mahesh and
Dinesh in the ratio of 3 : 2. The profits for the
year ended on 31lst December, 2006 was
¥ 1,20,000. Prepare Profit and Loss
Appropriation A/c.

9. ‘GERERI gueiar forad § e1 @nful’ 59 & & e
o] 4

‘Partnership agreement must be in writing.’
Discuss the statement.
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10. U% 90 9EER & J997 W S & @l (69 J6R &
AT & 7 quid S| 4

Explain the accounting treatment of goodwill at
the time of admission of new partner in a firm.

11. g Sia9 S Giiedl W Ry U diftgs & @i
FIER HY [HAT AT §, T T ARG Gl HHT 1T € 7 4

What is accounting treatment of Premium. on
Joint Life Policy when it is treated as revenue
expenditure ?

12. B & FHOA R, g1 GERET (6 $ BEaR) T @
TR @l Tl T H SRR B & q16, 5 &t
& ST Siafer @ enft ? 4
(i) ¥ 22,500 % §F KT B T YA {HAT|
(i) f%ﬁm S 7 % 24,000 T & &4 T 15,000 H
|

(iii) Tdh CIEIEX| [EESER) J&id oI [ 91, &l T 5000
4 |

(iv) % 1800WWWWHI§§IW%§‘GH
EZU

What journal entries would be passed for the

following transactions on the dissolution of a

firm, after various assets (other than cash) and

third parties liabilities have been transferred to

Realization Account ?

(i) Bank loan ¥ 22,500 has been paid.

(ii) Stock worth ¥ 24,000 is taken over by
partner Lalu for ¥ 15,000.
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(iii)

(iv)

13. (a)
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A typewriter completely written off in the
books of accounts was sold for ¥ 5000.

Expenses on dissolution amount to ¥ 1800,
were paid by partner Kalu.

T¥ 2006 & G AT T<T 39 THR &

¢ '
2005 3,000
2006 96,000
2007 2,000 1,01,000

7
31 fTg=R, 2005 @1 U T< B A 5,000
31 fTa=R, 2006 @1 U T< & WA 12,000
2005 ¥ 2006 & T AW @ T< H X 5,000

2006 & IT-TF @ ¥ @ I amelt I & A
&l TUET ST | 5

Actual amount of subscription received
during the year 2006 was as follows :
¢ ¢
2005 3,000
2006 96,000
2007 2,000 1,01,000
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Subscription outstanding on

¢

31st Dec. 2005 5,000

Subscription outstanding on

31st Dec. 2006 12,000

Advance Subscription received in

2005 for 2006 5,000

Calculate the amount of subscription which
will be shown in Income & Expenditure

A/C.
(b) = FEAIeT § 2005-06 F IRA IUAT & T
TATE I AT @ 0T ﬁﬁrq : 5
faawor T
TATE & T & [T grar 3,70,000
TATs HY & foT o+eR
01-04-2005 &l 25,000
31-03-2006 & 17.000
TATE B ©ih
01-04-2005 &I 62,000
31-03-2006 &I 54,000
01-04-2005 &I 11,500
31-03-2006 H 18,200
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From the following information, calculate

the cost of medicines consumed during the
year 2005-06 :

Particular Amount ¢
Payment made for purchase of

medicines 3,70,000

Creditors for medicines :

On 01-04-2005 25,000

On 31-03-2006 17,000
Stock of medicines :

On 01-04-2005 62,000

On 31-03-2006 54,000
Advance paid to supplier of
medicines :

On 01-04-2005 11,500

On 31-03-2006 18,200

YT
OR

Y- WA FIST A @1 b qHend gy, & §

IR TE FHifT|

10

Define and distinguish between Income and
Expenditure Account and Receipt and Payment

Account.
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14, = gO9-09 S SR T & &, A 3 : 2 H AIIT § A9

frsmfora & &

U] i & | gRawrar UElkd
SEEARS 20,000 | B&ITA {8 3,000
gl EREL 12,000

& - 30,000 (e 15,000
¥ - 20,000 | 50,000 | B 10,000
|43 9 7=l | 30,000

70,000 70,000

zq fafy &1, e 9al W F & Geer) § gagr o 1@

() FAHH 1/6 97 & T 15,000 T & GoT 3R
5,000 % @A & o0 difeew & &0 & amen|

(i) TS B A 10% J HF S & 761 G4 T ALY
H I 10% § T §| BHR F G 9,000 R
HTT T

(iii) fafaer ITERT W 5% wfever ol & fora graem =71
212 1,000 1 fafwarT o geaet & €1 fagman o
2, B AT I § @ 2|

HH & J&IH § YT & [T Saedd o giafear
HIY T JaT-91 A7 qA7E7| 10
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The following is the Balance Sheet of A and B
who’s share profit and losses in the ratio of 3 : 2 :

Liabilities | Amount Assets Amount
¢ 4
Creditors 20,000 | Cash in Hand 3,000
Capital : Debtors 12,000
A - 30,000 Stock 15,000
B - 20,000 | 50,000 | Furniture 10,000
Plant &
Machinery | 30,000
70,000 70,000

On this date, C is admitted as a partner on the
following conditions :

(i) C will bring ¥ 15,000 for capital and ¥ 5,000
for premium for goodwill in cash for 1/6th
share in profits.

(i) Value of stock is decreased by 10% and
value of machinery is increased by 10%.
Furniture was valued at ¥ 9,000.

(iii Provide a provision for doubtful debts @ 5%
on debtors. There is an investment of
% 1,000 which was not recorded in balance
sheet, now it will be shown in the firm's
balance sheet.

Pass the necessary journal entries for the above
in the books of the firm and prepare Balance
Sheet of firm.
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YT

OR
Tfq § o F7 R & 7 T & gedihT i A
ATt &7 ISTEXT & TETHAT § U &g | 10

What do you mean by goodwill ? Explain various
methods of valuation of goodwill with the help of
suitable examples.

15. Hifed, RS T GEd & gaq-o A f&@r @ g S are-

&I &0 ST it ST & fwnfor v &

e | wfor & | aRawfaar afr #
SRS 21,000 | 9as 1,00,000
gTg 20,000 | A=Y 50,000
gt - S 18,000

Hqifgd | 80,000 | ITER 20,000

AR | 40,000 | HEHET-gA K0T
died | 40,000 | & 9EE _1,000 | 19,000

d% # s 14,000
2,01,000 2,01,000
=g fifY @ RS Qarga &1 T q91 BH § Ik T B
A = & ST@R e S

() 9T & A % 1,20,000 {1 T q91 AG B
T 20% & & {21 7|
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(i) ®H @ TG B GBI 72,000 I fHAT W=
QaTigd WEER & e 7 RE, 99 9EEn &
PEikelnR-RUEIRIERRERIRE A

g R AT, TSR & ol T o7 S & ganagia
& 918 go - ST 10

The Balance Sheet of Mohit, Neeraj and Sohan
are given as follows who shares profit and losses
of the firm in the ratio of their capitals :

Liabilities | Amount Assets Amount
4 4
Creditors 21,000 | Building 1,00,000
Reserve 20,000 | Machinery 50,000
Capital : Stock 18,000

Mohit 80,000 | Debtors 20,000

Neeraj 40,000 | Less : Provision
Sohan 40,000 | for doubtful

debts 1,000 19,000
Cash at Bank 14,000
2,01,000 2,01,000

On that date Neeraj retires and his share in the
firm was paid as under :

(i) Building was revalued at ¥ 1,20,000 and
value of machinery was decreased by 20%.
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(ii) The valuation of firm's goodwill was
372,000 and retiring partners share in
goodwill be adjusted in remaining partners'
capital accounts.

Prepare Revaluation A/c, Capital accounts and
Balance Sheet after Neeraj retirement.

AT
OR

=T @ e S

Explain the following :

(i) g Gl 5

Revaluation Account

(i) TROMY g STl 5

Memorandom Revaluation Account
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